


'J Acidified potassium

dichromate(VI) solution is *

added into potassium iothde

solution in a beaker. Which of 1

the following represents the

ionic equation for the redox

reaction?

A Cr,07(aq) + 6I(aq)
14H*(aq) — 2Cr*(aq)
31(aq) + TH,O()

B Cr,0,%(ag) + 2I(aq)
14H'(aq) — 2Cr™(aq)
L(aq) + 7H,0()

C CrOj(ag) + 6l(ag +
12H'(aq) — Cr*(aq)
31 (aq) + 6H,0()

D CrOj(ag) + 2I(aq) +

e

+ +

+

14H*(aq) — Cr¥(ag) +

L(ag) + 7H,0(I)

h “‘ - - -

2) A redox reaction can be

represented by the followmg
equation.

Cl(ag) + 2KBr(aq) —
2KCl(aq) + Br,(aq)

Whatcanbe observedifchlorine

is replace with iodine?

A Purple gas is produced.

B Colouriess solution is
produced.

C No visible change.

D Brown colour of iodine
turns colourless.

2) The following  equation
represents a reaction between
chlorine and iron(Il) sulphate
solution.

Cl, + 2Fe* — 2Fe* + 2CI

Which of the following is true

about the reaction?

A Iron(III) ion is oxidised.
Chlorine is reduced.

agent.
Iron(II) ion is the oxidising
agent.

4) Diagram 6 shows a set up of

apparatus to investigate a redox
reaction.

B
C Chlorine is the reducing |
D

\pplication

€) What is the oxidation number

-~ JGI-- -

B 12 r .
57 Q.-.:; Potassium for manganese in MnO,*?
— 1] "1 iodide, A =2 C 46
n(lll) — [} {4+ Kl soluti
nitrate, | | : o B 4 £ g
f:l(uf‘:g;h : Sulptrric acid 7) What is the oxidation number
' ~—- for chromium in Cr,0,*?
B +6 D -3

Which of the following is true?

¢) Diagram 8 shows a set up of
apparatus to investigate a redox
reaction involving transfer of
electron at a distance.

) A i o _JG., ——
P Q B - 1
B owp| 0 | P d
C  Pke Q P B Q_ . Solution P—-l! : I}_‘-'— Solution Q
D Pch 0 | » L))

~~—— Sulphuric acid
K ) Diagram 7 shows a set up of =
apparatus to investigate a redox
reaction involving transfer of
electron at a distance.

Diagram 8
What are the solution P and
solution Q should be used so

——G)— that the electrons are flow from
LA S0 sl electrode Xto electrode ¥?
[P S : . . -
i -~ Potassium At
HU HH  iodide, Hn]ulmn{g,
Aciified ——1§ ~1~KBr solution & | Brcine water ' Iron(1l)
potassium ! Lo { |
dichromate(VD) | ./ ' | Smapas
solution ) ~— Sulphuric acid | ; ' solution
Diagram 7 B Potas.sium . Chlorine
: | bromide ‘water
What 1s observed at the ‘solution
electrode X and electrode Y ? (A N
i A P TR C| Amd;ﬁed - Potassium
ME%& potassium iodide
A Orange -Colourless 'manganate(VII) solution |
solution ;solution i solution .'
turns green | turns brown e
it -g,“i—-h— ----- D Acidified | Bromine
B Oran_ge B“""f“  potassium water
solution solution dichromate(VI) |
turns green  turns 'solution
‘colourless T 1 N
C Purple Colourless - q)Diagram 9 shows a set-up of
‘solution solution apparatus to investigate a redox
turns turns brown reaction involving transfer of
colourless electron at a distance.
D Purple Brown
;solution 'solution
turns green ' turns
: colouriess

[ron(II) sulphate
solution

Sulphuric acid

Diagram 9

Which of the following
renrecents the 10Mic eauation



